EH26FE ENMNESFFRATRS

F67REAMEFFRMEFTRE/L

FETIL—

[ B F ]

—R—ILERE
TERUOBREE T

68148 (%)
£ 1 #H AI—F BRET7)—7F ¥ 3 # ca—+ BRET)—F
—1k B % = K UEER) AAFERES K (KDR) m—
_930 2[522] — [Zggg]o 930
5 & ERER XE I XS KGGREE
27-25
[2255198]01150_ _1150 [222311
B KR (BER) BEREEERS K ERBR) m—
= 10 3o [gg:gg :|° - — 2[ 2522 1c()3:230
M O &8 & EXRB it R E S K EHR
FEIM AT FE2H SR TI00#E
g 2 Ba—+ EREFTU—F % 44 Da—+ EBREBETI—F
—m FE & &R CPRER) B OB & &R ERER)—
17-25
= o: 30 [ ol ]1 - o 2[ 2512 9?:130
—l 5 & R GERR) oM E XS KR GEE
25-21
2[2;:?3]11150_ _11502[2:3]
—X s L X & &R (KB B HEZERS K (BIFER) —
28-26
_10 30 [23252]1 - [gg%]o 1030
BERBEIZXESERKERRR T HE I %5 K (GKER

EIHEFFE2HER T30

RN —F AR

B2
10:30

B1
9:30

BRET7)—F BRET)—7F
6H148(1) 6H15H8(A)
B B B & & GEEE) 1
A1
EREIEE K EREE 2 9:30
2[ 55754 Jo 15 34
B A% RS K (EER 3 -
Ol B KRR 4 12:00 I »
25-18 A_4 12:00
2[2522] 15 34 14:00
EHHEBES KREHFR S
A2
10:30
E A & & GGEHER 6
2[22;2] 15 34
XKoo I xS RKREKPE 7

C5

BRET)—F
6H148(1)

25-18
2[25 20]

20-25
2[ 25-8 ]1
25-21

13 48

niE B8 %
120 M E %

— 100 FFERES

R

X &N I X3

o}

o}

SERBHEES Kk ERaR
a5 2[ 20T

SE R T X & K EHR

B (Ka8)

B UEER)
&R (1R R

B ERER

R (R



